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1 RAKAEEERKR

X 53 23 FEE | 24FE | 254FFE| 2 64FE| 2 THEE
i) i Sk ® km 285. 1 258. 8 306. 4 329.0 340. 6
ok 3 R O&E P R | T 125 124 107 107 29
oK & P & K& | e 125 124 107 107 29

fic K 4 =L 11 7 5 9 7
7 £ & | T 1 0 0 3 1
i B | @ 1 1 0 0 0
= — v & 3 1 3 1 2
8058 - Y kA - Z oM | EPT 6 5 2 5 4
B K =4 G0 114 117 102 98 22
#n w | 50 54 49 49 12
v= — v F | 4 6 1 2 1
7 7K ¥ | e 3 2 2 1 3
1K « Z oM | @ 57 55 50 46 6
oK Z R F R % 100.0 100. 0 100. 0 100.0 100. 0
1 HImABGIL#EEE | nm/H 287. 4 562. 3 445. 0 626. 1 474.7
A 7K & | m/H 4.5 134. 4 20. 6 75.1 68. 4
& 7K & | m/H 282.9 427.9 424. 4 551.0 406. 3
1A LT 72 O IR A 1 B | i/ A - 2.29 4.53 4.15 5.85 16. 37
1H 1km4 7= Y OB IEHEE & | nd/ H -km 1.00 2.17 1.45 1.90 1.39
] I 25 % 97.3 97. 4 97.5 97.5 97.5
2 #RIKAXBIREKR
TRE284F (20164F) 3A31HIRE
X e e A R &
B JE K/ K 53, 257H#%
2 OH Kk E 4F2 1003 LA _E 200 md i 14
e 200 PA_E 300 7 A 2f
300m LAk 14
fi§ 5 5 M K& 2424% 10 288 2 20 R 10644
7K 20 Ph b 40T 76{4
40mi LA E o 60 AT 32(F
60m LA 80m AT 614
1 80mi LAk 100 A 1144
1003 LA_E 200 i A 814
200 LA b 300 mi AT 21
2 300n$ LA b 400 ot i 14
/N HB R BT oK A 78042 10mPAT
B 54, 283#%




3 MAKREIS=HETHE

BEIEEHICKSHET
FH Bl # & - & E gl & O F A
E| oKk L F B GA T = & zH
. e T # £+ 4
A EREF - ILEERME = T & H| o M & &
w| o R E FEE O
= F| ET)E - ETHRERE H| A —HX—HE
4 HWKEBIEZHARKNRT
(1) RaAIRARR (AT - 1)
HACEE L A Bk - PR
— > - . B ke | ARAW e
W o Bl @z oo m| mmew T | TS mEs
2 3R 760 305 39 1,207 6,693 5,489 1,370 8,216
2 A4EpE 547 304 6 755 5,771 5,190 1,338 7,031
2 AR 557 680 15 588 6,491 5,258 1,298 6,532
2 6 FE 418 521 5 497 5,875 5,122 1,546 8,909
2 TAESE 605 379 41 486 6,327 5,613 2,190 5,645
(2) AOZERBERR (BALT « 1)
M B | 23FEE | 24FEE  25FEE | 260FEE | 27TFEE (4 A|5H|6H|7THI8A|9H|10H|11H|12A|1H|2H|3H
0% 13mm| 860 757 808 720 772| 84| 43| 70| 53| 61 89| 52| 62| 53| 42| 58| 105
O£ 20mm| 5,379 4,588 5,270 4,713 5,114| 683| 332| 355| 371| 403| 358| 362| 348| 344| 306| 419| 833
O 25m| 346 324 313 333 328] 34| 29| 30| 35| 32| 24| 30| 22| 30| 18| 25| 19
O£ 3 0m 29 31 21 32 4 50 4 5 31 2/ o e 1/ 4 3 1] 0
O 4 0mn 26 28 21 36 34 6/ 3] 3 1 5 2/ o 3 o 2 2 7
O 5 0mm 28 20 30 17 201 4/ ol 1/ 3 1 1] 1] 1| 11 o 4] 3
O 7 5m 22 18 24 21 221 71 4] 4 o 2/ of 2 1| 1 o 1] o0
O£ 10 Omm 3 5 4 3 3 ol o 3 o o o o o of o o o
H£215 0m 0 0 0 0 of ol o o o o o o o o o o o0
& 24 6,693 5,771 6,491| 5,875 6,327| 823| 415| 471| 466| 506| 474| 453| 438| 433| 371| 510 967
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(3) #aKZEETEHRAR KR (HpL )
QML | 244 [ 254 | 264 FE | 2T EE |4 A |5 A6 A 7A|8A|9A [10A|11Al12A|1A|2A |34
1221 3mm | 7% 19 4 3 1 1
= 1 1 11 3 1 1 1
HEE 1
SR 2 2 1 3 3
M A220mm | FEx 689 469 402 333 555 37| 42| 20| 28| 21]170| 59| 33| 31| 21| 57| 36
WR 228 238 236 270 295( 31| 22| 25| 19| 14| 18| 88| 11| 19| 14| 22| 12
X 31 4 14 1 23] 4 5 1 2 11 31 31 2] 2
shipim| 1,147 689 424 346 433|134] 30| 24| 31| 11| 35| 16] 33| 30| 35| 27| 27
M £2225mm | 7% 36 38 40 30 311 6] 21 4 2| 1 3 3 3] 2
Gig=] 36 32 37 46 501 6| 6] 6] 3| 5 2 5 3 4
MR 2 1 1 9 1l 1] 2 1 21 1] 1
SR 24 37 33 53 27 41 71 2| 3 3 1 1 5 1
M1 ££30mn | 7k 3 3 1 1 1
g 2 4 9 1 I 1 1] 2 1 1l 1
MR 1 1 1
SR 10 3 6 8 2 1 1
1 £240mm | H75% 17 8 47 1 1 5 1 1] 3
g =S 10 109 72 10 1 I 1] 1 11 2 1] 2
R 2 3 1 1] 1
SRt 10 12 26 65 12 1 1] 2 I 1] 1 41 1
1 £2250mm | 7% 7 13 107 2 2 1l 1
g =S 11 7 55 51 6 1] 1 2 1l 1
HEx 2 4 2 2
SR 11 10 94 19 9 1 21 1] 1] 1 1] 1 1
M £ 75mm | 7% 1 2 1] 1
WR 5 13 239 2 4] 1 2 1
R
S 4 2 3 )
M £2100mn] 1% 2 1
g =y 1
HEE
SERh 1
M1 £2150mn] Hra%
Gig= 1 1 61 2 1] 1
X 1 1 1
SR
i Brax 760 547 557 418 605( 44| 44| 24| 35| 24[174| 63| 39| 38| 24| 59| 37
WR 305 304 630 521 379( 40| 28| 35| 26| 22| 24| 91| 22| 26 18| 28| 19
MR 39 6 15 5 411 4 1| 8| 6 2 11 1} e 7 3] 2
shipfn 1,207 755 588 497 486|135 36| 35| 37| 15| 37| 21] 35| 33| 36| 36] 30
& E 2,311 1,612| 1,840| 1,441] 1,511]223]109]102|104| 61|237]176] 97|103| 85[126] 88




5 MR

0o B 7K 25 oS 7K =4
(mm) |PrzemEk| BERMIEE | MBI E |wroreex| Troerrs| BERIEE | MiEILEE [ProrsEes
500 236 236
450 4, 595 4, 595
400 5, 659 5, 659
350 7 7
300 1,143 1,143 1,560 1,560
(;ffjféi% 250 1,089 1,089 1,902 1,902
prn i 200 2, 111 2, 111] 2,097 329 2, 426
150 716 716
125
100 14 14 488 488
75
/INEt 4, 357 4,357| 17, 260 329 17, 589
500
400
300
250
200
i 150
100
75
50
40
INEE
400 41 41
300
250
ovn 200 29 29
W L0

100
75
50
REF 41 29 70
150 27 27
100
40
NEF 27 27
75
/NG
150
100
75
[ %2 50
40
30
INEE
& 3 4, 384 4,384 17, 301 358 17, 659
MRERT, BB E L AT AOF IO BAEEIESEE T,
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(B :m)

% k& e ok # -
TroctE K] BERIEE | MBIEE | Pherems k| waoes k] SRt E | MEIEE [whereek| & "
1, 240 1,240 2, 296 2, 296 3,772
394 394 4, 989
5, 152 5,152] 11,344 11, 344 22, 155
2, 452 2, 452 2, 459
6 6| 37,481 22 547 36, 956 39, 665
1,298 1,208 12,721 606 612 12,715 17, 004
496 196] 43,107 1,575 24[ 44,658 49, 691
130, 848 1, 360 732] 131,476 132, 192
3 3[ 118,907 2, 056 687 120,276 120, 781
38 38] 58,108 1,803 787 59, 124 59, 162
8, 233 8,233 417,658 7,422 3,389 421, 691 451, 870
36 36 36
81 81 81
14 14 14
18 18 18
158 158 158
191 1 192 192
3 3 3
1,112 4 1,116 1,116
156 156 156
1,769 5 1,774 1,774
102 102 37 37 180
285 9 276 276
24 24 24
232 27 259 288
362 30 392 392
144 144 144
140 140 140
33 33 33
102 102 1,257 57 9 1,305 1,477
31 31 58
526 526 526
72 72 72
629 629 656
139 139 139
219 219 219
7,978 6 7,984 7,984
35, 607 354 197 35, 764 35, 764
1, 587 2 1,589 1,589
45, 530 362 197| 45,695 45, 695
8, 335 8,335| 466,843 7,846 3,595| 471,094 501, 472




6 BRIEFEERNRT

(1) EFKEREK (HAL « 1)
EOE ok |wos - mak| BAKE |okk - mx|sT - k| Fom 5
23 4 JE 19 58 174 97 13 183 544
24 JE 18 60 113 81 8 227 507
25 M JE 8 233 89 96 5 260 691
26 17 110 85 86 4 227 529
27 M JiE 7 44 59 64 10 107 291
BRAERER R (CER27 /) (B = )
X o3 4RA(5H|6A|7THI8A|I9A|I0A|11A12A1 A|2 A3 A &
g |l = — b 2 1 3
;:J; ook F 1 2 1 4
ki H
i [ % 1 1
’zj 7T U ED 1 1
wyr2dbr| 4 1| 2 | 4 2 o9 1 24
ﬁ ifd B 1 1 2
e | Ry 7 2T 2 3 1 2 3 3 1 1 16
wmlE = — v 1 1 1 5 15
;J; #h w51 6] 3 of 4] 1 4 ol 1 39
B4 o 1 1 1 2 5
ff: Hi & 1 1 ol 1 5
® 7Yy & v 1 1
o | I - | 1l 5 2l 1 12| 3 46
=Py oy 2 1 1 2 9
7JA< Jijd = 1 1
B o 2wy
Ry 7 AR 1 1
<7 7 v F 2
L & 1 1 1
Y
Ny X 1 1 1
K =
TN i £+ 1 1
1 %
=z | & Yy 1
DR K A 1 1 4 1
W 15 g % 6] 14 5| 1ol 13| 18] 10| o] of 4| 4 7 2 98
fia 28] 30[ 30] 30l 34 24 20] 11| 25 15| 32 12] 291




7 BRI EEERR

(1) RIS
T F= 4 oAT N R =z ¥ % | BEITHEHH|BRITEAR
EIRE5% R,
HIA B HAG A ER [DCIP ¢ 300mm L=47.6m| 5,537,160 | 27. 4.23] 27. 6.9
T (27) fRKER & 5 & 2
Z2RF ¢ 25mm 23
N = 114 5, 537, 160




(2) HRIH

T % 4 i T N B ¥ % ELHHB | #I4AH i &
1 EBE% Tk
¥ 2 T HHWNIE |DCIP ¢ 75mm~ ¢ 150mm 32,956,200 | 27.11.25| 28. 3.28
ECKAE B T [=372. Im
(27) H-E098 ¢ 7T5mum~ ¢ 150mm 1 3 K&
SAEAE AT 1=
BiH 1 T HHPE |DCIP ¢ 75mm~ ¢ 300mm 94,137,120 | 27. 7.30] 28. 3.28
MECKE S B T5 1.=980. 6m
(27) HE1F ¢ 75mm~ ¢ 300mm 2 3 F
SEEARIE IR T 130
55 T BHiIIZA [DCIP ¢ 75mm~ ¢ 150mm 51,304,320 | 27. 9.25] 28. 3.23
Bl KSR T3 1.=628. 9m
(27) HEF ¢ 75mm~ ¢ 150mm 2 1 F
HPEAEIRT 1=
M7 4 T HHNIE  [DCIP ¢ 75mm~ ¢ 100mm 49, 880, 880 27. 7. 1| 28. 1.29
MEOKE S R T 1.=664. 4m
(27) HE)F ¢ 75mm~ ¢ 100mm 1 7 £
BEEAE AT 1=
W4 T HHPANIE [DCIP ¢ 75mu~ ¢ 200mm 68,186,880 | 27. 6.24] 28. 1.29
MECKE S B T3 1=809. 5m
(27) HE1F ¢ 75mm~ ¢ 200mm 2 6 F
EEAIEIR T 15
) ikiE T HEF ¢ 50mm~ ¢ 150mm 5 k| 6,986,520 | 27. 9.16] 28. 3.11
(27) HEEAIE IR T 1
TH KRR E L W5 K42 ¢ 75mm 3] 2,666,520 [ 27. 9.16] 28. 3.11
(27)
& Ei 71 306, 118, 440




(3) BRUBRIFIHSIRER

= it 4 oAT N R Hz ¥ B |BFELEAH|BTLEAH fi§ &
] B3 SR,

e v X EC K [BEKHE 1, 100m X 2 i 9,936,000 | 27. 6.10] 28. 1.29
W R O EA B GEmR T 120
TR T HEfaRE3E B L EFE R 1=
Bt (27)
la_ 7 1 BEAK [BOKE R R 1 19,980,000 | 27. 9. 2| 28. 3.25
E ?ﬁEﬁf%’Q%ﬁHinxD
EBLRE (27)
Bl KB A R e Bl A e e Rk & 1] 7,805,160 | 27. 9. 2[ 28. 3.16
lﬂn‘l‘% %anOl
(27)
P KB AT e R %i Bl /KB A AR R AR 1] 6,793,200 | 27. 9. 2] 28. 3.16
B ZFENo.
(27)
BC KA AR 2E | BOKE A s R AR 5 12| 7,020,000 | 27. 9. 2[ 28. 3.30
A EHESZERENo. 3
(27)

& B 5 4 51, 534, 360




